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Pasar a Sistema Hexadecimal
1/0001/10015 = 11944
57675 = 1011|1111]0111, = BF 7y

985419 = 213 42104294264-254 24423422421 = 10|0110]0111]11105 =
267E)6

10/1100/1001, = 2A49,4
7645275 = 11]1110{1001|0101]0111, = 3E957:g

57412010 = 2194254214429 974 95493 — 1000/1100/0010|1010|10005 =
8C2A8

Pasar a Sistema Binario

64155 = 110[100/001|101,

9BAT; = 1001|1011]0100(0111,

9845,9 = 213 + 210 429 4 26 4 25 4+ 24 4 22 4+ 20 = 100110011101015
354775 = 011/101]100[111|111,

F5D41,4 = 1111/0101|1101|0100]0001,

5687819 = 21 + 214 4 212 4 ol 4 210 L 99 4 95 4 93 1 92 4 91 —
11011110001011104



